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SCIENCE  
 

PHYSICS 
Q.1 The correct relation between heat produce (H)

and electric current I flowing is - 

 (1) H ∝ I (2) 
I
1H ∝  (3) 2IH ∝   (4) 2I

1H ∝

 
Q.2 Coming of live wire and neutral wire in direct

contact causes - 
 (1) short-circuiting  
 (2) over loading 
 (3) no damage  
 (4) unknown effect 
  
Q.3 The direction of magnetic lines of force

produced by passing a direct current in a
conductor is - 

 (1) perpendicular to the conductor and coming
outwards 

 (2) parallel to conductor 
 (3) surrounding the conductor and of circular

nature 
 (4) perpendicular to the conductor & coming

inwards 
   
Q.4 Current is induced in a coil by electromagnetic

induction when -  
 (1) Only the coil moves in a magnetic field 
 (2) Only the magnet is moved into a coil 
 (3) Coil and the magnet move with respect to

each other 
 (4)  None of the above 

SCIENCE  
 

PHYSICS 
Q.1 mRiUu Å"ek (H) o izokfgr fo|qr /kkjk I ds chp 

lEcU/k gSa - 

 (1) H ∝ I (2) 
I
1H ∝  (3) 2IH ∝   (4) 2I

1H ∝  

 
Q.2 /kkjkokgh rkj vkSj mnklhu rkj ds lh/ks lEidZ esa 

vkus ds dkj.k - 
 (1) y?kqifFkr gks tkrk gS  
 (2) yksM vkf/kD; gks tkrk gS 
 (3) dksbZ uqdlku ugha gksrk  
 (4) vKkr izHkko gksrk gS 
  

Q.3 ,d pkyd esa fn"V /kkjk xqtjus ij mRiUu gqbZ 

pqEcdh; cy js[kkvksa dh fn'kk - 
 (1) pkyd ds yEcor~ rFkk ckgj dh vksj fudyrh 

gqbZ gksxh 
 (2) pkyd ds lekukUrj gksxh 
 (3) pkyd dks ?ksjs gq, ,oa o`Ùkkdkj izd`fr dh 

gksxh 
 (4) pkyd ds yEcor~ vkSj vanj vkrh gqbZ 

gksxh 
  

Q.4 ,d dq.Myh esa /kkjk fo|qr pqEcdh; izsj.k ds }kjk 
izsfjr gksrh gS tc -  

 (1) dsoy dq.Myh pqEcdh; {ks=k esa xfr djrh gSa 

 (2) dsoy pqEcd dq.Myh esa xfr djrh gS 

 (3) dq.Myh ,oa pqEcd ,d nwljs ds lkis{k xfr 
djrs gSa 

 (4)  mijksä esa ls dksbZ ugha  
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Q.5 The focal length of a concave mirror is f and the
distance of the object from the principal focus is
a. The magnitude of magnification obtained will
be - 

 (1)  (f + a)/f (2) f /a 

 (3) a/f  (4) f 
2/a2 

 
Q.6 The image formed by a concave mirror is real,

inverted and of the same size as that of the
object. The position of the object should be - 

 (1) Beyond C (2) Between C and F 
 (3) At C  (4) At F  
 
Q.7 A pin forms an image in a plane mirror. If the

mirror moves 10 cm towards the pin, the 
distance moved by the image will be -  

 (1) 20 cm (2) 40 cm (3) 60 cm (4) 80 cm 
 
Q.8 In order to turn a ray light through 72º from its

original direction, the angle of incidence on a
plane mirror should be -  

 (1) 36º (2) 24º (3) 48º (4) 72º  
 
Q.9 The magnification of an object placed 10 cm

from a convex mirror of radius of curvature
5.0 cm will be -  

 (1) 0.20 (2) 0.16 (3) 0.10 (4) 0.05 
 
Q.10 In the circuit shown in figure, the current is -  

 
4V, 1Ω

2V, 3Ω  
 (1) 3 A (2) 2 A (3) 1 A (4) 0.5 A 

Q.5 ,d vory niZ.k dh Qksdl nwjh f gS vkSj eq[; 

Qksdl ls fcEc ¼oLrq½ dh nwjh a gSA rc izkIr vko/kZu 

dk ifjek.k gksxk - 
 (1) (f + a)/f (2) f /a 

 (3) a/f  (4) f 
2/a2 

 
Q.6 vory niZ.k }kjk cuk;k x;k izfrfcEc okLrfod] 

mYVk vkSj fcECk ds vkdkj dk gksrk gSA fcEc dh 
fLFkfr gksuh pkfg, - 

 (1) C ls nwj  (2) C o F ds e/; 
 (3) C ij  (4) F ij   
 
Q.7 ,d fiu ,d lery niZ.k esa viuk izfrfcEc cukrk 

gSA ;fn niZ.k dks 10 cm fiu dh vksj f[kldk fn;k 
tk;s] rks izfrfcEc }kjk pyh xbZ nwjh gksxh -  

 (1) 20 cm (2) 40 cm (3) 60 cm (4) 80 cm 
  
Q.8 ,d izdk'k fdj.k dks mldh ewy fn'kk ls 72º ls 

eksM+us ds fy, ,d lery niZ.k ij vkiru dks.k 
gksuk pkfg;s -  

 (1) 36º (2) 24º (3) 48º (4) 72º  
 
Q.9 5.0 cm oØrk f=kT;k ds ,d mÙky niZ.k ls 10 cm 

dh nwjh ij j[kh ,d oLrq dk vko/kZu gksxk -  
 (1) 0.20 (2) 0.16 (3) 0.10 (4) 0.05 
 

Q.10 fp=k esa iznf'kZr ifjiFk esa] /kkjk gS -  
 

4V, 1Ω

2V, 3Ω  
 (1) 3 A (2) 2 A (3) 1 A (4) 0.5 A 
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Q.11 A carbon microphone works on the principle that 
 (1) carbon is a good conductor of electricity and

sound 
 (2) carbon is a non-metal through which

electricity passes in one direction 
 (3) a circuit is complete only when sound is

made 
 (4) carbon granules are compressed and

loosened by sound waves 
    
Q.12 How can three 30 Ω resistances be arranged to

give a total of 45 Ω resistance?  
 (1) two in series and third in parallel 
 (2) two in parallel and third in series 
 (3) all three in parallel 
 (4) it is not possible 
  
 

CHEMISTRY 
Q.13 Which pair of elements of the following sets is 

likely to have similar chemical behaviour ? 
 (1) Sodium and aluminium   
 (2) Argon and potassium  
 (3) Boron and germanium    
 (4) Nitrogen and phoshorus  
 

Q.14 'Atomic number, not atomic mass, is a more
fundamental property of an element'. This was
enunciated by  

 (1) Lothar Meyer  (2) Moseley  
 (3) Mendeleev (4) Bohr  
 

Q.15 Which of the following can lose two electrons to 
attain the configuration of argon? 

 (1) Mg (2) Br (3) Ca  (4) S 

Q.11 dkcZu ekbØksQksu fdl fl)kUr ij dk;Z djrk gS -   
 (1) dkcZu fo|qr rFkk /ofu dk lqpkyd gksrk gS 

 (2) dkcZu ,d v/kkrq gS ftlesa ls fo|qr/kkjk ,d 

fn'kk esa izokfgr gksrh gS 

 (3) ifjiFk iw.kZ dsoy rc gksrk gS tc /ofu mRiUu 

gksrh gS 

 (4) dkcZu ds NksVs VqdM+s dks /ofu rjaxksa }kjk laihfM+r 

rFkk izlkfjr fd;k tkrk gS 
    

Q.12 30 Ω ds rhu izfrjks/kksa dks fdl izdkj O;ofLFkr fd;k 

tk;s rkfd dqy izfrjks/k 45 Ω izkIr gks?  
 (1) nks Js.khØe esa rFkk rhljk lekUrj Øe esa 
 (2) nks lekUrj Øe esa rFkk rhljk Js.khØe esa 
 (3) lHkh rhuksa lekUrj Øe esa 
 (4) ;g laHko ugha gS 
  
CHEMISTRY 
Q.13 rRoksa dk dkSulk ;qXe leku jklk;fud O;ogkj n'kkZrk 

gSA  
 (1) lksfM;e rFkk ,Y;qfefu;e    
 (2) vkWxZu rFkk iksVsf'k;e  
 (3) cksjksu rFkk teZsfu;e    
 (4) ukbVªksTku rFkk QkWLQksjl   
 

Q.14 ijek.kq nzO;eku  ugha cfYd ijek.kq  la[;k] rRo dk 

vf/kd ewyHkwr xq.k gksrh gSA ;g dgk Fkk - 

 (1) ywFkj es;j us  (2) ekWtys us 

 (3) esFkhyho us  (4) cksj us 
 

Q.15 fUkEu esa ls dkSulk nks bysDVªkWu R;kxdj] vkWxZu dk 

foU;kl xzg.k dj ldrk gSA 
 (1) Mg (2) Br (3) Ca  (4) S 
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Q.16 The reaction H2 + Cl → 2HCl is a  
 (1) decomposition reaction    
 (2) combination reaction 
 (3) double displacement reaction 
 (4) displacement reaction  
 
Q.17 Which of the following can form more than one

acid salt? 
 (1) CH3COOH (2) H3PO4 
 (3) CH3CH2COOH (4) ZnO 
 

Q.18 Potash alum is a - 
 (1) simple salt  (2) complex salt  
 (3) acid salt  (4) double salt 
 
Q.19 Metals below hydrogen in the activity series can - 
 (1) react with acids to liberate hydrogen ions  
 (2) react with acids to liberate hydrogen gas  
 (3) react with water at ordinary temperature  
 (4) none of these 
 

Q.20 Lime is used in metallurgical operations
as a  

 (1) flux  (2) matrix 
 (3) reducing agent  (4) oxidizing agent 
 
Q.21 Sodium carbonate is used in dry soap powders

because it acts as - 
 (1) a detergent    (2) an alkali 
 (3) a basic oxide (4) none of these 
 

Q.22 The characteristic reaction of alkanes is - 
 (1) addition  (2) substitution 
 (3) polymerisation (4) isomerization 

Q.16 H2 + Cl → 2HCl vfHkfØ;k dgykrh gS -  
 (1) fo;kstu vfHkfØ;k    
 (2) la;kstu vfHkfØ;k 
 (3) f}foLFkkiu vfHkfØ;k 
 (4) foLFkkiu vfHkfØ;k  
 

Q.17 fuEu esa ls dkSulk ,d ls vf/kd  yo.k cuk 
ldrk gS ? 

 (1) CH3COOH (2) H3PO4 
 (3) CH3CH2COOH (4) ZnO 
 

Q.18 ikSVk'k ,ye gS - 
 (1) lk/kkj.k yo.k  (2) ladqy yo.k 

 (3) ,ye yo.k  (4) f}d yo.k 
 

Q.19 lfØ;rk Js.kh esa gkbMªkstu ls uhps dh /kkrq,¡ - 
 (1) vEyksa ls fØ;k djds gkbMªkstu vk;u ns ldrh gS

 (2) vEyksa ls fØ;k djds gkbMªkstu xSl ns ldrh gS  
 (3) lk/kkj.k rki ij ty ls fØ;k djrh gS  
 (4) buesa ls dksbZ ugha  
 

Q.20 pqus dks fdl :i esa /kkrqdeZ fØ;kfof/k esa iz;qDr fd;k 
tkrk gSA  

 (1) xkyd  (2) vk/kk=kh 
 (3) vipk;d  (4) vkWDlhdkjd 

 
Q.21 'kq"d lkcqu ikoMj esa lksfM;e dkcksZusV dk m;;ksx fd;k 

tkrk gS] D;ksafd ;g fuEu :i esa dk;Z djrk gS - 
 (1) viektZd    (2) {kkj  
 (3) {kkjh; vkWDlkbM  (4) buesa ls dksbZ ugha  
 

Q.22 ,Ydsu dh yk{kf.kd vfHkfØ;k gS - 
 (1) ;kSxkRed   (2) izfrLFkkiu  
 (3) cgqydhdj.k  (4) leko;ohdj.k 
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Q.23 A dilute solution of ethanoic acid in water is called-
 (1) tincture of iodine  (2) Fehling's solution  
 (3) vinegar  (4) Tollens reagent  
 

Q.24 Collecting rain water is called  - 
 (1) water treatment    
 (2) harvesting of water  
 (3) replenishment of ground water  
 (4) none of the above 
 
 
BIOLOGY 
 

Q.25 CO2 + H2O are necessary for __________ while
O2  + H2O are essential are _______________  

 (1) Animal and plant life  
 (2) Plant life and animal life  
 (3) Producing food and producing off springs  
 (4) Both (2) and (3)  
 
 Q.26 ‘Descent with modification’ is the central theme of -
  (1) Recapitulation (2) Genetics   
  (3)  Evolution  (4)  Biogenesis 
 

Q.27 A gamete contains - 
  (1) Two alleles of a gene 
  (2) One allele of a gene    
  (3)  All alleles of a gene    
  (4)  None of the above 
 
 Q.28 The incisor tooth is meant for - 
 (1) biting and cutting   
 (2) chewing   
 (3) munching and chewing  
 (4) munching  

Q.23 ty esa ,Fksukbd vEy dk ruq foy;u dgykrk gS - 
 (1) fVapj vk;ksMhu   (2) Qsgfyax foy;u 
 (3) fljdk  (4) VkWyu vfHkdeZd   
 

Q.24 laxzfgr o"kkZ ty dgykrk gS  - 
 (1) ty O;oLFkk 
 (2) ty laxzg.k 
 (3) Hkqfexr ty dh iwfrZ  
 (4) mijksDr esa ls dksbZ ugha  
 
 
 
BIOLOGY 

Q.25 CO2 + H2O __________ds fy, vko';d gksrs gS] tcfd 
O2  + H2O _______________ ds fy, vko';d gS -  

 (1) tUrq rFkk vko';d   
 (2) ikni rFkk tUrq thou  
 (3) Hkkstu mRiknu rFkk larfr mRiUu djus    
 (4) (2) rFkk  (3) nksuksa  
 
Q.26 ‘mi;qDrk ds lkFk ifjorZu’ fdldh dsUæh; fo"k;oLrq gS -
  (1) lf{kaIr fooj.k (2) vkuqokf'kadh  
  (3) mn~fodkl (4) tSo mRifÙk 
 
Q.27 ,d ;qXed esa gksrs gS - 
  (1) ,d thu ds nks ;qXe fodYih 
  (2) ,d thu dk ,d ;qXe fodYih 
  (3)  ,d thu ds lHkh ;qXe fodYih 
  (4)  mi;qZDr esa ls dksbZ ugha  
 

Q.28 ÑUrd nk¡r gksrs gS - 
 (1) dkVus o pckus ds fy,  
 (2) pckus ds fy,  
 (3) dqrjus RkFkk pckus ds fy,   
 (4) dqrjus ds fy,  
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Q.29 If the CO2 concentration in the blood increases, 

the breathing shall - 

 (1) Increase  (2) Decrease  

 (3) Stop  (4) No affect  
 

 Q.30 Shape of guard cells are - 
 (1) Bean shape  (2) Polygonal  
 (3) Kidney shape  (4) Both 1 & 3 
 
Q.31 Which of the following animal is having 

longitudinal binary fission ? 
 (1) Euglena  (2) Plasmodium  
 (3) Planaria  (4) Paramecium  
 
Q.32 Natural Parthenogenesis occurs in - 
 (1) Frog to form females  
 (2) Honey bee to form drones  
 (3) Cockroach   
 (4) Vegetarian eggs  
 
  Q.33 Pancreas secretes hormone - 
 (1) Insulin (2) Pepsin  
 (3) Trypsin   (4) Enterogastrone   
 
Q.34 At the time of puberty, the hormone that triggers 

sexual characters in male is - 
 (1) Insulin  (2) Testosterone  
 (3) Adrenalin  (4) Thyroxin  
 
Q.35  The basic unit of a vertebrate kidney is the -  
  (1)  Ureter   
  (2)  Nephron   

(3) Malpighian tubule   
(4) Islets of langerhans   

Q.29 ;fn jDr esa CO2 dh lUnzrk c<+ tk;s] rks 'olu 
nj - 

 (1) c<sxh (2) ?kVsxh  

 (3) :d tk;sxh  (4) dksbZ izHkko ugha iMs+xk  
 

Q.30 )kj dksf'kdkvksa dh vkd`fr gksrh gS - 
 (1) chu ds vkÑfr dh  (2) cgqHkqth   

 (3) o`Dd ds vkÑfr dh (4) 1 o 3 nksuksa 

 
Q.31 fuEu esa ls dkSuls tUrq esa vuqnS/;Z f}foHkktu ik;k 

tkrk gS ? 
 (1) ;qXyhuk (2) IykTeksfM;e 
 (3) Iysusfj;k  (4) iSjkehf'k;e  
 
Q.32 izkÑfrd vfu"ksd tuu ik;k tkrk gS - 
 (1) es<+d esa eknk cuus ds fy, 
 (2) e/kqeD[kh esa Mªksu cuus ds fy,  
 (3) dkWdjksp esa 
 (4) 'kkdkgkjh v.Mksa esa   
 

Q.33 vXuk'k; }kjk L=kkfor gkekZsUk gS - 
 (1) bUlqfyu (2) isfIlu  
 (3) fVªfIlu   (4) ,UVsjksxsLVªkWu  
 
Q.34 ;kSoukoLFkk ds le;] gkeksZu tks uj esa ySafxd y{k.kkas 

ds fodkl dk dkj.k gksrk gS - 
 (1) bUlqfyu  (2) VsLVksLVsjkWu  
 (3) ,fMªufyu  (4) Fkk;jkWfDlu 
 
Q.35   d'ks:dh o`Dd dh vk/kkjh; bdkbZ gS -  
  (1)  ew=k okfguh    
  (2)  usÝkWu  

(3) esYih?khu ufydk 
(4) ySaxjgsUl ds }hi  



  

 

 
 
 
 
 
 
 
 
 
 
 

 
 
 
 
 
 
 
 

CAREER POINT, CP Tower, IPIA, Road No.1, Kota (Raj.), Ph: 0744-3040000      8 

Space for rough work 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

Q.36 The conversin of protein waste, ammonia into 
urea occurs mainly in -  

  (1)  Kidney      (2) Lungs   
(3) Liver     (4) Intestine   

 
Q.37 Animals get extinct mainly due to - 
  (1) Predation  
  (2) Habitat destruction   
  (3)  Afforestation, Pollution   
  (4)  Pollution 
  
Q.38 Biodiversity hotspots are - 
  (1) Oceans (2) Glaciers   
  (3)  River  (4)  Forests 
 
 Q.39 In every food chain green plants are - 
  (1) Decomposers (2) Producers   
  (3)  Consumers  (4) None of the above 
 
 Q.40 Carnivores represent - 
  (1) Primary consumers 
  (2) Secondary and Tertiary consumers   
  (3)  Reducers   
  (4) Zooplankton 
 
MENTAL ABILITY  
Direction (Q.41 to 42)  
 Find the next term of the given series :  
 

Q.41 2, 6, 18, ………  
 (1) 9 (2) 10 (3) 20 (4) 54  
 
Q.42 A 2 C, E 6 G, I 10 K, ……   
 (1) M 14 O  (2) P 27 C  
 (3) D 10 F    (4) R 20 T    

Q.36  izksVhu vif'k"V] veksfu;k dk ;wfj;k esa :ikUrj.k 
eq[;r% gksrk gS -  

  (1)  o`Dd esa   (2) QsQM+ksa esa  
(3) ;d`r esa       (4) vkar esa  

 

Q.37 tUrq eq[;r% foyqIr gksrs gS - 
  (1) ijHk{k.k ds dkj.k   
  (2) vkokl viálu ds dkj.k   
  (3)  ouhdj.k] iznw"k.k ds dkj.k  
  (4)  iznw"k.k ds dkj.k 
 
Q.38 tSofofo/krk izpqj (Hotsopt) LFky gS - 
  (1) egklkxj (2) fgeunh (Xysf'k;j)   
  (3) unh (4) ou 
 

Q.39 çR;sd [kk| Ja`[kyk esa gjs ikni gS - 
 (1) vi?kVd (2) mRiknd   
 (3)  miHkksDrk  (4) mijksDr esa ls dksbZ ugha  
 

Q.40 ekalkgkjh çnf'kZr gksrs gS - 
 (1) çkFkfed miHkksDrk  
 (2) f}rh;d o r`rh;d miHkksDrk   
 (3)  vi?kVd   
 (4) tarqIyod  
 
MENTAL ABILITY  

funsZ'k (Q.41 ls 42)  

 nh xbZ Js.kh;ksa dk vxyk in Kkr dhft, : s 
 

Q.41 2, 6, 18, ………  
 (1) 9 (2) 10 (3) 20 (4) 54 
 

Q.42 A 2 C, E 6 G, I 10 K, ……   
 (1) M 14 O  (2) P 27 C  
 (3) D 10 F    (4) R 20 T    
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Direction (Q.43 to 44)  
 Find the missing term : 
 

Q.43 
?45
632

181210
 

 (1) 12 (2) 6 (3) 24 (4) 3 

 

Q.44 24 4 2 

1

3 

361 2 

6

3

?3 5

8

2

   

 (1) 13  (2) 240 
 (3) 33  (4) None of these  
 
Q.45 How many squares are there in the following

figure ? 
 

 

 
  
 (1) 9 (2) 16  (3) 23 (4) 32 

 
Q.46 In a certain code, V E G E TA B L E is coded as

4 5 7 5 2 1 2 3 5, then how is W A T E R coded?
  (1) 5 1 5 2 9  (2) 5 1 2 5 9  
 (3) 5 1 2 9 5  (4) 5 1 5 9 2 
 

funsZ'k (Q.43 ls 44)  

 yqIr in Kkr dhft, :  
 

Q.43 
?45
632

181210
 

 (1) 12 (2) 6 (3) 24 (4) 3 
 

Q.44 244 2

1

3

36 1 2 

6 

3 

?3 5

8

2

   

 (1) 13  (2) 240 
 (3) 33  (4) buesa ls dksbZ ugha  
 

Q.45 fuEu vkdf̀r esa fdrus oxZ gS ? 

 
 

 
  
 (1) 9 (2) 16  (3) 23 (4) 32 
 

Q.46 ;fn fdlh lkadsfrd Hkk"kk esa V E G E TA B L E dks
4 5 7 5 2 1 2 3 5 fy[kk tkrk gS] rks mlh Hkk"kk esaa
W A T E R dks D;k fy[kk tk;sxk ? 

  (1) 5 1 5 2 9  (2) 5 1 2 5 9  
 (3) 5 1 2 9 5 (4) 5 1 5 9 2 
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Q.47 Choose the correct answer  
 2 9 28 65 126  ____ 
 (1) 214    (2) 215       (3) 216  (4) 217 
 
Q.48 Choose the correct answer.  
 2 : 9 = 64 : ______  
  (1) 125 (2) 257 (3) 422 (4) 625 
 
Q.49 Find the wrong number in the series : 
 3, 8, 15, 24, 34, 48, 63 
 (1) 15 (2) 24  (3) 34  (4) 48 
 
Q.50 In a certain code, P O E T R Y is coded as 
 R E P O T Y, then what is the code of the word 

A U T H O R ? 
 (1) O H U A T R (2) O T A U H R  
 (3) R H U A T O  (4) U A H T R O 
 
 
 
 
 
 
 
 

Q.47 lgh mÙkj pqfu,  

 2 9 28 65 126  ____ 
 (1) 214    (2) 215       (3) 216  (4) 217 
 

Q.48 lgh mÙkj pqfu,A  
 2 : 9 = 64 : ______  
  (1) 125 (2) 257 (3) 422 (4) 625 
 
Q.49 J`a[kyk esa xyr la[;k Kkr dhft, : 
 3, 8, 15, 24, 34, 48, 63 
 (1) 15 (2) 24  (3) 34  (4) 48 
 
Q.50 ;fn fdlh lkadsfrd Hkk"kk esa P O E T R Y dks 

R E P O T Y fy[kk tkrk gS] rks A U T H O R dks 

 D;k fy[kk tk;sxk ? 
 (1) O H U A T R (2) O T A U H R  
 (3) R H U A T O  (4) U A H T R O 
 
 
 
 
 
 

 


